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Ex.1

Sol.

2.3

Ex.2

Sol.

MATHEMATICAL APTITUDE

This section deals with questions on simple mathematical operations. Here, the four fundamental
operations — addition, subtraction, multiplication and division and also statements such as 'less
than', "greater than', 'equal to', 'note equal to' etc. are represented by symbols, different from the
usual ones. The questions involving these operations are set using artificial symbols. The candidate
has to substitute the real signs and solve the question accordingly, to get the answer.

% EXAMPLES ¢

5
7 7 125
(a) 0.0025 (b) 0.025
(c) 0.025 (d) 2.5
The answer 1s (d), 1e. 2.5,
5 2.5
because 35 = 2 and 195 =2
Alternately, put X in both blank spaces so that XxX=123x35 . X =
1296 =}
7 2.25

(a) 6 (b) 7 (c) & (d) 9
The answer is (d) 1.e. 9, because
J1296 9
5 - 4 and i 4
or, put X in both blank spaces, sothat

X2= [396 %225
T X=0

Problem solving by substitution

(1)

Note

Ex.3

In this type, you are provided with substitutes for various mathematical symbols, followed by a
question mvolving calculation of an expression or choosing the correct / incorrect equation. The
candidate is required to put in the real signs in the given equation and then solve the question as
required.

While solving a mathematical expression, proceed according to the rule BODMAS - 1.e. Brackets,
Of, Division, Multiplication, Addition, Subtraction.

eg. (36 -12)+4+6+2x3

=24 +-4+6+2x3 (Solving Bracket)

=6+3 =3 (Solving Division)
=6+9 (Solving Multiplication)
=15 (Solving Addition)

¢ EXAMPLES %

I '+ means 'divided by, = means ‘multiplied by’, X’ means ‘minus’ and =" means ‘plus’, which
of the followig will be the value of the expression 16 =8 -4 +2 = 47
(a) 16 (b) 28 (c) 32 (d) 44
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Sol. Putting the proper signs in the given expression, we get :
16 +8x4+-2-4=16+16-4
=32-4=28

S0, the answer 15 (b),

Ex4 If + means —, — means =, ~ means + and * means —, then
J6x12+4+-6+2-3=7
(@2 ()18 ()42 (d) ﬁ%

Sol. Using the proper signs, we get :
36-12+4+6+2x3=36-3+3x3
=36-3+9=45-3=42
So, the correct answer is (c)

Ex.5 I A means 'plus’, B means 'minus', C means 'divided by’ and D means 'multiplied by', then 18
Al2C6D2BS5="
(a) 15 (b) 25
{c) 27 (d) None of these
Sol. Using the proper signs, we get :
Givenexpression = 18+ 12 +6 =2 -5
=18+2x2-5
=18+4-5
=22-5=17

So, the answer 1s (d).
Ex.6 If = stands for —, = stands for +, + stands for + and — stands for =, which one of the following
equation is correct 7
(a) 15-5+5x20+10=6
b)8+-10-3+5x6=8
(c)6x2+3+12-3=15
d3+7-5x10+3=10

L]

Sol. Using the proper signs, we get :
Expressionin(a) =15 x5+ 520+ 10
=15x5+5-12

|

75+5-2=178
Expressionin(b) =8+ 10=x 3 +5-6
3
=S+H}x§—ﬁ

=8+6-6=8
Expressionin(¢) =6-2 =3+ 12 x 3

5 =
_42u? = —
Expressionin{d) =3 +7 x5~ 10+ 3
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10

=3+Tx5-—%
10 104
=¥F¥-g 5T
Statement (b) 1s true.

Ex.7 It being given that : = denotes +, < denotes —, + denotes +, — dentotes =, = denotes 'less than’
and = denotes "greater than', find which of the following 1s a correct statement.
(a)3+2>4=9+3<2 (b) 3>2>4=18+3<1
€)3>2<4x8+4<2 (d)3I+2<4x9+3<3

Sol. Using proper notations, we have :

(a) Given statement 15 3 -2 +4<9=-3-12

or % < 1, which is not true.

(b) Given statement is 3 +2 +4 <18+ 3-1
or 9 < 5, which 15 not true.

(c) Given statement1s 3 +2 -4 >=8+-4-2
or | =0, which is true.

(d) Given statement1s 3 -2 -4>9 =3 -3
or ug = (), which 1s not true.

So, the statement (c¢) 15 true.

(1) Interchange of signs and numbers

(1) Deniving the appropriate conclusion.

% EXAMPLES 4

Ex.8 If the given interchanges namely : signs + and + and numbers 2 and 4 are made 1n signs and
numbers, which one of the following four equations would be correct ?

(A)2+4+3=3 (B)d+2+6=15
(C)d4+2+3=4 (D)2+4+6=28
Sol. Interchanging + and + and 2 and 4, we get:

(A)d =2 + 3 =3 or 5= 3, which s false.
(B)2+4+6=150r65= 1.5, which is false.

10
(C)2+4+-3=4 or & = 4 which 1s false

(D)4 -2+ 6 =8 or 8 =8, which is true.
Ex.9 Which one of the four interchanges in signs and numbers would make the given equation
correct? 3 +5-2=4
(A)+and —, 2 and 3(B) + and —, 2 and 5
(C) + and —, 3 and 5 (D)) None of these
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Sol. By making the interchanges given in (A), we get the equation as 2-5+3=4
or 0=4, which i1s false.

Ex.10 It being given that = denotes 'greater than’, ¢ denotes 'equal to', < denotes 'not less than', L
denotes 'not equal to', A denotes 'less than' and + denotes 'not greater than',
choose the correct statement from the following:

Ifa>bAc, it follows that (A)adcAb (B) b=a=xc
(Cla<b+e (D)yb<adc
Sol. Using the usual notations, we have :

(A) The statementisa>b<c=a=c<h,
which is false. [+ ¢>b]

(B) The statement 1sa>b <c¢c = b xa > ¢,
which 1s false. [-- b<a]

(C) The statement 1s a>=b <¢ = ayb.c,
which is false . [-- b<a]

(D) The statement 15a>b <c¢c = ¢ 4 b y a,
which 1s false. [-- b <a]
Hence, the statement (C) 15 true.

Ex.11 In the following questions, the symbols = | = | = (@ are @ used with the following meanings:

'A = B'means 'A 1s greater than B';
'A '+ B'means 'A is either greater than or equal to B';
'A = B' means 'A 1s equal to B';
'A (@ B' means 'A is smaller than B";
'A @ B' means 'A is eithter smaller than or equal to B'.
Now, 1n each of the following questions, assuming the given statements to be true, find which of
the conclusions I and II given below them is/are definitely true ?
Give answer (A) if only conclusion 1 is true; (B) if only conclusion 11 is true; (C) if either [ or Il
1s true; (D) 1if neither I nor 11 is true and (e) if both I and II are true.

1. Statements : M=T, T@Z, S+ M
Conclusions : L. Z = M nLZ=M

2. Satements :R @M, M= PR« L

Conclusions : . M =L HLP=L
3. Satements :L@C,C*Z,Z @F
Conclusions : 1. C = F IL'F =C
4. Statements : Z@ B, N+ 5 B@N
Conclusions : . B=Z .S@B

5. Statements : T+ PP@S,P=M

Conclusions : . § = M ILT@S

Sol. Given statements - M=T.T=<Z S=M
Now, to verfy conclusions | and II, we need to find a relation between Z and M.
LZ2T, T=M=Z=M
== Z>MoZ=Mie,Z - M
or Z=M.
So, either 1 or I follows.
Hence, the answer 15 (C)
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2. (aven statements : R<=M M=P R =L

(I) Relation between M and L :
Mz2R,R2ZL=>M2>=Lie, M:L.

S0, 1158 not true.

(II) Relation between P and L.

P=M M=R, R =L = no definite conclusion.
So, (II) 15 also not true.
Hence, the answer 15 (D).

3. Given statements : L<C. C=Z, Z<F
Clearly, we find a relation between C and F. C =7 7 =<F — no definite conclusion.
So, neither I nor 11 1s true.

Hence, the answer is (D).
4. Given statements : Z<B N=5 B=<N
(I) Relation between B and Z :

Clearly, B>Z 1e.,B+Z

So. (1) 15 not true.

(II) Relation between S and B :

S <N, N =B = no definite conclusion.
So, (I1) 15 also not true.
Hence, the answer 15 (D)

5. Given statements : T=2P, P<S_ P=M

(I) Relation between S and M :
S=PP=M=8>Mie,S-M
So. 1 1is true.

(IT) Relation between T and § :

T=P P<S = no definite conclusion.
So, 11 is not true, Hence the answer is (A).
Ex.12 Given interchanges : Signs — and + and numbers 4 and 8
(A)6-8+4=-1 (B)8-6 -4=1
(C)4+-8-2=6 D)4-8+6=2
Sol. On nterchanging — and = and 4 and 8 1n (C), we get the equation as 8 -4 -2 =06

or 8=2 =06 or 6=06, which 1s true.

Ex.13 Given interchanges : Signs + and * and numbers 4 and 5
(A)5x4+20=40(B)5 x4+ 20=285
(C)5x4+20=104 (D)5x4+20=295
Sol. On mterchanging + and = and 4 and 5 1n (C), we get the equation as 4 + 5 = 20 = 104
or 104 = 104, which is true.
Ex.14 5+6+3=12x2=17
(A) ~ and x (B) + and =
(C) + and = (D) + and -
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Sol. On interchanging — and =, we get :
Givenexpression =5+6 x 3 - 12+ 2
=5+6x3-6
=5+18-06=17

Ex.1§ 2x3+6-12+4=17

(A) = and + (B) + and -
{(C) + and + (D) — and +
Sol. On interchanging = and +, we get :

Givenexpression =2 +3 x6-12+4
=2+3x6-3
=2+ 18=3=17

Ex.16 Which of the following two signs need to be interchanged to make the given equation correct?

10+ 10+10-10x 10 =10 (A) + and - (B) + and +
(C) + and = (D) +and +
Sol. On interchanging + and =, we get the equation as

10 <10+-10-10+10=10
or 10x1-10+10=10

or 10 = 10, which 1s true.
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EXERCISE

(D) 5725

D)7

(Dy0.19

(D)2.01

(D) 0.012

(D) 20.0

(D)2.10

(D)4.05

(D) 0.008
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(D) 0.01

iD)0.4

(D) 0.60
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Q.14  If = stands for ‘addition’, + stands for 'subtraction’, + stands for ‘multiplication and — stands for 'division’, then
W=xRB=-8-4+2=17
{A) 80 iB)25 (C)24 D)5

.15 If — means =, * means +, + means ~ and + means —, then
d=12+3-6=60="7
(A)T795 (Bile (C)44 (D) none
.16 If + means =, + means —, * means = and —means +, what will be the value of 4 + 11 =5 -55=7

(A)—485 (B)-11 (C)79 (D) none

Q.17 If = means +, — means =, * means — and + means *, then

(36x4)-8x4
4+8x2+16=1
(A0 (B) 8 (C) 12 (D) 16

Q.18  If x stands for 'add’, y stands for "subtract’, = stands for ‘divide and p stands for ‘multiply’, then what 1s the
value of (Tp3)yHx57

(A) S iB) 10 (C) 15 (D) 20

Q.19 If L denotes =, M denotes = |, P denotes + and () denotes —, then
I6P2dMBEQ6M2ZL3I=7
13 1 1
{A) ry IB]—E (i) ME (D) 10
Q.20 If — means +, + means %, +~ means —, * means +, then which of the following equations is correct 7
(A)52+-4+5=x8-2=136
(By43 = 7+-5+4-8=25
(Cy136=4-12+5+3=420
(D)36-12=x6+-3+4=060

Directions (Questions 21 to 23) :

In each of the following questions if the given interchanges are made in signs and numbers, which one of the four
equations would be correct ?

Q.21  Given interchanges ; Signs + and — and numbers 4 and 8
(A)d4=8-12=16 (B)4-E+12=0
(C)8+4-12=24 (D)§-4:12=8

3.22  (mven mnterchanges : Signs — and = and numbers 3 and 6
(A)b—-3Fx2=9 (B)3-6=8=10
(C)ex3—-4=15 (D)3Ix6—4=733

Q.23  Find out the two signs to be interchanged for making following equation correct :
S+3IxB-_ A2 F4=1]
(A) + and - (B) — and =
(C)+ and = (D) + and =

Directions Fﬁﬂfsffﬂﬂi 24 1o 26) :

In each of the following questions an equation becomes incorrect due to the interchange of two signs. One of the four
alternatives under it specifies the interchange of signs in the equation, which when made will make the equation correct.
Find the correct alternative.

Q24 l6+8+-4+5=22=8§

(A) + and x (B) — and =
{(C)+ and + (D} — and =
.25 Q9+5+4=3-6=12
(A)+ and = (B) = and =
(C) = and — (D) + and —

Q2 12+-2-6=3+8=l6
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{A)+ and + (B)— and +
{C) = and + (D) + and =

Directions (Questions 27 to 29) :

In each of the following questions, the two expressions on either side of the sign (=) will have the same value if two
terms on either side or on the same side are interchanged. The correct terms to be interchanged have been given as
one of the four alternatives under the expressions, Find the correct alternative in each case.

027 5+3xb6-4+2=4x3-10+2+7
(AY4,7 (B)5,7 (C)64 (D)6, 10
028 15+3x4-B=2=8x5+16+-2-1
(A}3. 5 (B)155 (C)1516 (3,1
029 B8=2x5-11+9=6x2-5+4=12
(A)5,9 (B)E S5 (C)9.6 (IDI11,5
Directions (Questions 30 to 31) :

In each of the following questions, which one of the four interchanges in signs and numbers would make the given

cquation correct 7

Q3 6x4+2=16
{A)+and x, 2 and 4 (B) + and =, 2 and 6
(C)+ and =, 4 and 6 (D) None of these
Q31 4=6-2=14
(A)*to= 2and4 (B)—to= 2andé6
(C)—to+ 2Zand &6 (D) =to+, 4and 6
.32 Which of the following conclusions s correct according to the given expressions and symbols 7
Ay B:=> C:=# Bi—
E: s
Expressions : (aEb) and (bEc)
(A)aEce (ByaFc (C)cBa (D)cBb
.33  Find the correct inference according to given premises and symbols :
A ;. Not greater than B : Greater than
C : Not equal to D : Equal to
E : Not less than F : Less than
Premises © (ACm) and (fAm)
{(A)/Bm (B)/Dm (C)fEm (D) {Fm

Directions (Questions 34 to 36) :
It being given that - A denotes "equal to’; O denotes ‘not equal to’; + denotes ‘greater than'; — denotes ‘less than', =
denotes 'not greater than'; + denotes 'not less than'. Choose the correet statement in each of the following questions

334 a-—b - c imphes

(Ala—-b+c (Byb+a-c

(Clexb+a (D) b+a=+c
035 a=b=+cimplies

(Aya—-b+e (Blexhb=+a

(CalOb0c D)b=a=c¢

.36 a+ b+ ¢ does not imply
(A)b—a+c¢ (Bye—b-a
{(Clc—a+bh (D) b—-a-c
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Direction (Questions 37 to 38) :

If @ means "greater than', B means 'equal to', 8 means ‘not less than', y means ‘less than', § means 'not equal to' and 1
means not greater than', then which of the four alternatives could be a correct or proper inference in each of the

following ?

Q37 aalband2bBr
(Alanr (Blaar (Clafpr (D)ayr

Q.38 If A stands for 'not equal ' (#), B stands for "greater than' (=), C stands for "not less than' { ), D stands for
‘equal to' (=), E stands for "not greater than' ($), F stands for less than (<), then according to the given
premises (4x F Sy) and (5v E 3s), which of the following inferences is correct ?

(A)4x A3s(B)4x B 3s
(C)dx C 35 (D) 4x D 35

Direction (Questions 39 to 40) :

In cach of the follwing questions, A means 'is greater than', % means ' 15 lesser than', 00 means 'is equal to' = means
"Is mot equal to', + means 15 a little more than', * means ‘is a little less than'.

Choose the correct alternative in each of the following questions,

039 IfaAbandb+ ¢, then
(A)a % ¢ (B) c % a
(Clc+a (D} can not say

Q40 Ife%bandb = a, then

(AlahAe (ByeOa
(CybDOc (DycAa

.41 If + means +, * means —, < means % and —means +, then : 8+ 6 =<4 =3 -47
(A)-12 (B)-20/3
{(Cy12 (D) 2003

.42 If = means =, -means *, = means + and + means — then (3 =15 =19} = 8+ 6="
(A) 8 (B)4 (€)2 (D} -1

.43 If = means +, ~ means —, — means % and + means = then -8 = 7T -8+ 40 =2=17

2 3

(A) 1 (B) 7; () E; (D) 44

.44 If + means —, —means %, “means = and = means +, then : 15 23 = 15+5-2=7
(A O (B)6
(C) 10 (D)} none of these

.45 If = means —, + means +, —means > and = means +, then : 15 -2 = 900 = 90 = 100 =7

(A) 190 (B) 180
(C) 90 (D} none of these
.46 If + means =, — means =, + means —, *means +, what will be the value of 8 + 6 =+ 4 - T = 3 7 { A)
71

3

.47 If P denotes +, ) denotes =, R denotes + and S denotes — then : 18 Q 1 2P4R556=7
(A)36 (B)53 (C)59  (D)65

e iB) _E_?i (C)12 (D) 14
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(3.48

(2.49

Q.51

(.53

If a means 'Plus’, b means 'minus’, ¢ means 'multiplied by' and d means 'divided by', then
18 lda 6b 16d 4 =7

(A) 63 (B) 254

(C) 28R (D) none of these

If A means —, B means +, C means + and D means =, then :
I5B3C24A12D2= 17

(A) 34 iB)2

{C)5/9 (D) none of these

If A stands for +, B stands for —.C stands for =, then what 15 the value of (10 C 4)A {4 C 4) B 67 (A) 60
(B) 56 (C) 50 (D) 46

If * means ‘addition’, — means 'division’, + means ‘subtraction’ and + means 'multiplication’, then which of the
following equations is correct ? (A) 16 =5+ 10+4-3=19

Byl +5+10=4-3=9

Cylo+5-10=x4+3=9

(D)16-5%10+4+3=12

If + stands for 'division’, = stands for 'addition’, — stands for ‘multiplication’ and + stands for "subtraction’, then
which of the following equation 15 correct :

(A)G=6+T7+2-6=20

(B)36+6+3x5-3=45

C)I6+6-3=5=3=24

D)36-6+3=5=3=T4

If P denotes +, ) denotes —, R denotes » and 8§ denotes +, which of the following statements is correct ?

(A)36 R4SEQTP4=10
(B) 1I6R12P 495 7Q 9 =200
(C) 32S8R9=1600Q 12R 12
(D)SRBP8SEQR=57

If L denotes =, M denotes % P denotes + and
Q) denotes —, then which of the lollowing statements 1s true 7

3
(AY32P8L IE-Q4=—E

173

(B)6MI8Q26LI3P7=—+

38
(C)ITM34LITQREL3I= ?
(D)9PILIQOMI =—TI
If = stands for ‘addition’ | < for ‘subtraction’, + stands for ‘division’. = 'for multiplication’, — stands for 'equal
to', = for 'greater than' and = stands for 'less than' state which off the following 15 true ?
(A)3=2<4=:16>2+4
(B)5>2+2=10<4 =8
(C)Ixd=2-9+3=<3
Dys=3<T+8+4=1
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Directions (Questions 56 to 60) :

If = denotes +, < denotes —, + denotes +, A denotes =, — denotes =, = dentotes = and = denotes <, choose the comrect
statements in each of the following questions.

056 (A)6+3=8=4+2<1
(Byd=>6+2=32+4<1
(C)8<4+2=6>3
(D)14+7>3=6+3>2

Q57 (A)14>18+9=16+4<1
(B)4>3 A 8<1-6+2>24
(C)3<6 A 4>25=8+4<1
D)12>9+3<6x25+5>6

Q58 (A)13>7<6+2=3 A 4
(Bj9>5>4—-18+9> 156
(C)9<3<2>=1%x8 A 2
(D)28+4 A2=6 A 4+2

Q59 (A)29<I18+6=36+6 A 4
(BY1B8=12+4=T>8 A 2
(C)I2=>6+2=6<T A 2
(D}31>1<2=4>6 A7

Q60 (A)T=T=7T+7=14
BYTAT=T+T7T=T A T=1
(C)T<T+7=6
(Dy7+7>7=8

Directions : (. 61 to 80) :

In each of the following questions, arrange the piven words in a meaningful sequence and then choose the most
appropriate sequence from amongst the alternatives provided below each questions.

.61 1. Burth 2. Death

3. Funeral 4. Marriage

5. Education

(A)4,5 31,2 {B) 2 3:4 51

(C)1,5.4,2 3 (D)1,3.4, 52
Q.62 1. Site 2_Plan

3. Rent 4. Money

5. Building

(A)4,1,2 53 (B)3,4,2 51

(C)2,3,5 1,4 (D)1,2,3 5 4
.63 1. Table 2. Tree

3. Wood 4. Seed

5. Plant

(A)4,5 3,21 (B)4,5,2 3,1

(C)1,3, 2,45 (D)1,2,3,4 5
Q.64 1. College 2. Chuld

3. Balary 4. School

5. Employment
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(.65

0.66

.67

(.68

0.69

.70

Q.71

Q.72

.73

(A)1,2, 4 35
(€)4,1,3,5,2

1. Reading
3. Writing
(A)1.3, 2, 4
{(C)3,1,2, 4

1. Cutting

3. Vegetable

5. Cooking
(AY1,2, 4,53
(C)4,3, 1,52

1. Income

3. Education

5. Job
(A)1,3,2 54
(C)2,3. 4,51

1. Milky way
3. Moon

5. Stars
(A)d4,3,.2.51
{(C)2,3,4,5,1

1, Sea

3. Ocean

5. Glacier
(A)5, 4,3, 2,1
(C)5,2.4.1,.3

1. Poverty

3. Death

5. Disease
(A)3,4 2 51
(C)2,3,4,5,1

1. Yarm

3. Saree

5. Cloth

(A)2. 4,1, 513
(C)2,4,5 1,3
1. Puberty

3. Childhood

5. Senescence
(A)5,2,3. 4,1
(C)4,3.1,2,5
1. Windows

3. Floor

5. Roof

(A)d, 53,2, 1,6
(C)4.2,1,53.6

(B)2,4, 1,53
(D)5.3,2, 1,4
2. Composing
4. Pnnting
(B)2,3,4,1
(D)3,2,4,1
2. Dish

4. Market

(B}3,2,5,1,4
(D)5.3,2, 1,4

2. Status
4 Well-bemng

(B)1,2,5,3,4
(D}3,5 1,24

2. Sun
4. Earth

iB)3.4, 251

(D)1,4,3,3,2,5

2. Raivulet
4. River

(B}5,4,2,3,1
(D)5.2,1,3,4

2. Population

4. Unemployment

(B)2,4,1,5,3
(D)1, 2 3. 45
2. Plant

4. Cotton

(B)2,.4,3,5,1
(D)2,4,5,3,1
2. Adulthood
4. Infancy

(B)4,3,2, 1,5
(D)2, 4,3, 1,5
2. Walls

4. Foundation

(B}4,3,5,6,2,1
(D)4,1,5 8§23
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.74

.76

Q.77

.78

.79

(.80

1. Post-box
3. Envelope
5. Clearance
(A)3, 2,4 51
(C)3,2,1,4,5

1. Key

3. Lock

5. Switch on
(A)5, 1,2, 4,3
(C)1,2,3,5 4
1. Gold

3. Sand

5. Dhamond
(A)2, 4,3, 51
(C)4,5,1,3,2
1. Cut

3. Mark

5. Tallor
(A)4,3,1,572
(C)2,4,3, 1,5

1. Rainbow

3. Sun

5. Child
{A)2,1,4 35
(C)4,2, 3,51

1. Study

3. Examination
5. Apply
{A)1,2,3 .45
(C)1,3,5,4,2

1. Shoulder

3. Elbow

5. Finger
(A)5,4,2 51
{(C)3,1,4, 2 5

2. Letter
4. Delivery

(B)3,2, 1,54
(D0)2,3,1,4,5

2. Door
4. Room

(B)4,2,1,5,3
(D)1,3,2,4,5

2 Irom
4. Plantinum

(B)3,2, 1,54
(D)5,4,3 2,1

2. Put on

4. Measure

(B)3,1,5 4,2
(D)1,3, 2,4 5

2. Ramn
4. Happy

B)2,3,1. 5.4
(D)4,5.1,.2 3
2. Job
4, Earn

(By1,3.2 5.4
(D)1.3.5 2. 4
2. Wnst
4. Palm

(B)3,4,5 2,1
(D)2,4,5,3,1
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HINTS & SOLUTION

Q.41 Using the correct symbols, we have :
Given expression
=8+6-4x3+4

' 4 20

4
—E—4K3+4—E-|2+4—T

Q.42 Using the correct symbols, we have :

Given expression

=3x15+19) +8-6

=45+19)+8-6=M4+8-6=8-6=2
Q.43 Using the correct symbols, we have :

Given expression :

=8+7T=8+40-2

1 7 37 2
=8+ 7= E~2=S+ E—-E—?—TE

Q.44 Using the correct symbols, we have :
Given expression
15+3+15-5x%x2
=5+15-5x2=5+15-10=10.

Q.45 Using the correct symbols, we have :
Given expression
15 x 2 + 900 + 90 - 100
=15=x2+10-100=30+ 10 - 100 = - 60

Q.46 Using the correct symbols, we have :
Given expression
=8+6-4xT+3
=;—4x?+3=%-28+3=-¥
Q.47 Using the correct symbols, we have :
Given expression
18 x12+4+5-6
=18x3+5-6=54+5-6=353

Q.48 Using the correct symbols, we have :
Given expression
I8 x 14 +6-16 + 4
=18+ 14+6-4=252+6-4=254

Q.49 Using the correct symbols, we have :
Given expression

15+3+24-12x2

3+ =-12x20=5+M-24=5

]

Il
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Uﬁﬁg the correct symbols, we have :
Given expression
(10x4)+(4x4)-6=40+16 -6 =350

Using the proper notations in (C), we get the statements as :

I6:<5+]{}+4—3=16x%+4—3=8+4—3 -9

Using the proper notations in (D), we get the statements as :

6x6+3+5-3=36x2+5-3=T72+5-3=714

Using the proper notations in (D), we get the statements as :

8x8+8+8-8=8=<8+1-8=064+1-8=57

Using the proper notations in (D), we get the statements as :

0:0+9-9x9=0+]1-9x9
=0+1 =281 =-T71

Using the proper notations in (B), we get the statements as :

5x2+2<10-4+ 8 or 5 < 14 which is true.

Using the proper notations in (C), we get the statements as :

R—4+2<p+3or6 <9 which is true.

Using the proper notations in (D), we get the statements as :

4+3x8=1=6+2+240r 27 =27, which is true.

Using the proper notations in (B), we get the statemenits as :

9+5+4=18+9+ 16 or 18 = 18, which is true.

Using the proper notations in (D), we get the statements as :

3l+1=-2<4+6x7or 30 < 46, which is true.

Using the proper notations in (A), we get the statements as :

T+7-7+7<14or 13 < 14, which 1s true.



